TSDS - ENGLISH PRACTICE

Reconocimiento de tiempos verbales

Elegir la opcidn correcta:

1. A bit s the basic unit of computer storage. PRESENT SIMPLE PRESENT CONTINUOUS PRESENT PERFECT SIMFLE
2. Abit can contain zero and one. PRESENT SIMPLE MODAL PRESENT CONTINUOUS
3. A computer represented many things. PAST CONTINUOUS PAST SIMPLE PAST PERFECT SIMPLE
4. Aless common term was word. PAST SIMPLE PAST CONTINUOUS PAST PERFECT SIMPLE
5. A waord has been made up of one or more bytes. PAST SIMPLE PAST PERFECT SIMPLE PRESENT PERFECT SIMPLE
6. The computer had brought instructions. PRESENT PERFECT SIMPLE | PAST PERFECT SIMPLE PAST SIMPLE
7. Manufacturers are rounding off the numbers. PRESENT SIMPLE PRESENT CONTINUOUS PRESENT PERFECT SIMPLE
8. Memory fragmentation will be internal or external. PAST SIMPLE PRESENT SIMPLE FUTURE
9. Virtual memory is going to involve the separation of FUTURE PRESENT SIMPLE PAST SIMPLE
logical memary.
10. Multifactor authentication uses three or more forms. | PRESENT SIMPLE PAST SIMPLE FUTURE
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